TEST CASE:

CHECKING: ©.1 with 0.2
START: @.1

TRACK1

K !=nums. length-2

444 2LL4WRITTEN END-- -

This is counter at the moment: @

It is not possible to trigger hasTransition if counter is @ since can not sce transition in opposite direction
CURRENT STAR 8.1

- ---Stored start -> end: 08.1-30.2
SEPFFEFIPSFIRTTSF PR SEIEFEEFEFIPIFTIFFEFFPFFCURRENT List: []

CURRENT START: 8.1

We can see it has stored the
START: 8.1 value

8.1

@.2

e.1
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8.1
8.3 | can see that in my code, | had this already planned as an issue, but for some
8.1 reason including my documentation, | thought logic was too casual..

HEREEEEE We know if k==nums.length-2 (this will be absolute last index for k)...

CONTER 15 ©-- So need to evaluate in which circumstances it would be detrimental to write the
store...

SWriting range: @.2->

<epsilon)

dpunter: —nums .1ength-

otentialfurtherascendingsey FirstoccurenceascendingChain)

out.printl "+ nums[k1);
tentialfurthera:

tentialfurthera:

3}
}

if ((math.abs(nums[k] - (nums[k-1] + difference)) <epsilon) (Math.abs(nums[k] - (nums[k+1] - difference))<epsilon))

5 n.out.println(“Pre
if (!isFirstOccurenceAscendingChain)
1
{

start=5tring.valueOf(nums[k-1]);

isFirstOccurenceAscendingChain

m.isEmpty() && !isFirstOccurenceAscendingChain
potentialfurtherAscendingBeyondThisStart—"")
entialfurtherAscendingBeyondThisEnd ))

sm.add(potentialfurtherAscendingBeyondThisStarts+"->"+nums[k]
tem.out.println(” --1988 G STOR WRITE RANGE™);

.out.println("43 i + potentialfurtherAscendingBeyondThisStart + "-> " + potentialfurtherAscendingBeyondThisE

potentialfurtherAscendingBeyondThisStar

potentialfurtherAscendingBeyondThisEnd=




[@.1-30.2, 0.2->0.1]

| will need to run through several test cases for peace of mind.
On paper, it just does not seem it will interfere...

-valueof(nums[k]);
string.valueOf{nums[k+1]);
t+"->"+end};
ystem.out.println("SWriting range: " + start + "-> " + end);
isFirstOccurenceAscendingChain=

isFirstOccurenceAscendingChainNoTransition =false;
b




